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1

SECTION - A

i) General Awareness

Mangifera indica is the scientific name
of which of the following ?

(A) Mango (B) Banana

(C) Mustard (D) Neem

Article 370 of the Indian Constitution
abrogated by Government of India is
related to which of the following State
of India ?

(A) Nagaland

(B) Jammu & Kashmir

(C) Bihar

(D) Arunachal Pradesh

Which of the following statements are
correct regarding the Financial Action
Task Force ?

i. FATF is an international policy-
making body set-up to regulate
issues of loan defaults of its
member countries.

ii. FATF has 39 member countries.

Select the correct option.
(A) Only i

(B) Bothiandii

(C) Onlyii

(D) Neitheri norii

Which one of the following countries have
Anti-Satellite (ASAT) capabilities ?

(A) Japan

(B) United Kingdom

(C) ltaly

(D) India

https://www.{
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is the capital of Bhutan.
(A) Katmandu
(B) Lhasa
(C) Darijiling
(D) Thimphu

Who is the current Chairman of Indian
Space Research Organisation (ISRO) ?
(A) Kiran Kumar

(B) K. Sivan

(C) Satheesh Reddy

(D) Radhakrishnan Nair

In 2019, India carried out an airstrike
on terrorist camp in which place in
Pakistan ?

(A) Balakot
(C) Rawalpindi

(B) Pathankot
(D) Baluchistan

Who among the following is the current
permanent representative to the UN
from India ?

(A) Syed Akbaruddin

(B) Gautam Bambawale

(C) Nirupama Rao

(D) Shashi Tharoor

Which among the following terrorist
groups was responsible for the attack
on the Indian Parliament in 2001 ?

(A) Harket-ul-Mujahideen
(B) Al Qaeda

(C) Jaish-e-Mohammed
(D) Indian Mujahideen

question-papers/
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10.

11,

s

13.

14.

[ o

Which country recently withdrew from the
Paris Climate Agreement of 2015 2

(A) Germany

(B) Kingdom of Tonga

(C) United States of America

(D) South Sudan

India established diplomatic relations
with the State of Israel in which year ?

(A) 1948 (B) 1962
(C) 1988 (D) 1992
is the current National

Security Advisor (NSA) of India.
(A) Shivashankar Menon

(B) Aijit Doval

(C) Brajesh Mishra

(D) M.K. Narayanan

Which Indian Act allows the National
Investigation Agency to designate’an
individual as a terrorist ?

(A) POTA (B) TADA

(C) UAPA (D) NOTA

What is the name of the scheme
announced by the Prime Minister Modi
in 2019 for Water Conservation and
Household Pipeline Supply ?

(A) PM Jal Abhiyan

(B) Jal Shakti Mission

(C) Jal Jeevan Mission

(D) Jal Nidhi Mission

The 123 Agreement is the civil nuclear
agreement between India and which
country ?

(A) Australia

(B) Japan

(C) United States of America

(D) Russia

https://www.freshersnow.com/pi
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17.

18.

19.

20.

0 00 0 O

India launched its Chandrayaan -
Mission Il on”

(A) 21 June 2019
(B) 26 July 2019
(C) 22 July 2019
(D) 20 July 2019

Which High Court has the jurisdiction over
the Andaman and Nicobar Islands ?

(A) Madras

(B) Culcutta

(C) Kerala

(D) Andhra Pradesh

Name the current Chairman of
Rajya Sabha.

(A) Om Birla

(B) Venkiah Naidu

(C) Sumitra Mahajan

(D) Hamid Ansari

The Mercalli scale is used to measure
which of the following ?

(A) The magnitude of Earthquake

(B) The average rainfall of a region
(C) The intensity of Earthquake

(D) The density of water

The UNSC Resolution 1267 was in the
news recently is related to

(A) Climate Change Accord

(B) Designate Masood Azhar as a
global terrorist

Peace and Stability in Africa
Children in armed conflict

(©)
(D)
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12.

13.

14.

15.

e <91 3 3 € ° 2015 % UG S@9y
R § G i 31 T 7

(A) ST

(B) TrTEmST -

(C) IFI T4 S RHT

(D) =feoft ggm

Td A Tl 99 § soEe & 919 TSR
gy TTiuq feFu 7
(A) 1948
(C) 1988

(B) 1962
(D) 1992

A o FAHH T FLET
HARHN (TATHT) B
(A) Trevie g1
(B) 3w e
(C) i T

(D) .. TR

FH-a1 yrdi fufam e sfe
ANF FT TF AqFAG & T H TF
Sqfad & SIfNd A il IFAT Sare ¢
(A) POTA (B) TADA

(C) UAPA (D) NOTA

SIel HUEU IR e TRYATEH AT =g
T TS g 2019 ¥ HIfYT A
FH-TTR 7

(A) TuE S AREH

(B) W&t Wifeat v

(C) & Sfiaa fawe

(D) =1 FAfer fyerm

JRTRE THTY IR 123 FAR 91 3R B
W H A= IR ?

(A) FrEferan

(B) ST

(C) HFA T ST

(D) &4

16.
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18.

19.

20.
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woaH oY 11 ama 3
o |

(A) 212019
(B) 263 2019
(C) 229 2019
(D) 20 ST 2019

3EAA M FFem fu o e 3=
RTAT & SARFR H AT 7

(A) Ts™

(B) FHeashl

(C) ¥«

(D) YT

_ ®IgE

TSI OHT & Fa0H 3759 1 919 S|
(A) 3T fere
(B) AR,

(C) g we™A
(D) &firg am

Frafafaa § 9 fras o & forg mdhett

JoH &1 & SR 7

(A) ST T TRETT

(B) &3 & frma aui

(C) ¥ A eftera

D EESEIREE]

T & H GEERI # @1 JUATHH! Haheq

1267 T gafed 21

(A) SaT] REda THeiar

(B) WS I I T Afvash STawardt
Hifta F0 & g

(C) i1 # wnifd 3t femar

(D) HYH ISR § 5
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21.

22.

23.

i) General Intelligence and Reasoning Ability

Two clocks are set correctly at 9 a.m.
on Monday. Both the clocks gain 3
min. and 5 min. respectively in an
hour. What time will the second clock
register, if the first clock which gains 3
min. in an hour shows the time as 27
min. past 6 p.m. on the same day ?

(A) 6:27 p.m. (B) 6:45p.m.
(C) 6:25 p.m. (D) 6:50 p.m.

Arun said, “This girl is the wife of the
grandson of my mother”. Who is Arun to
the gid ?

(A) Father

(B) Grandtather

(C) Husband

(D) Father-in-law

Study the following information
carefully to answer the question.

i. Eightfriends A, B,C,D, E, F, Gand
H are seated in a circle facing the
centre.

ii. Dis between B and G and F is
between A and H.

iii. E is second to the right of A.
Then, which of the following is A’s
position ?

(A) Leftof F
(B) Right of F
(C) BetweenE andF

(D) Cannot be determine

24.

25.

26.

Statements : All players are doctors.
Some doctors are actors.

Conclusions : |. Some doctors are

players as well as

actors.

II. All actors are doctors.
(A) Only Conclusion | follows
(B) Only Conclusion Il follows
(C) Either | or Il follows

(D) Neither I nor Il follows

While facing East you tum to your left
and walk 10 yards. Then, turn to your
left and walk 10 yards and now turn
45° to your right and go straight to
cover 50 yards. Now, in what direction
are you with respect to the starting
point ?

(A) North-East

(B) North

(C) South-East

(D) North-West

If 1 October is Sunday, then 1
November will be

(A) Monday

(B) Tuesday

(C) Wednesday

(D) Thursday

https://www.freshersnow.com/previous-year-question-papers/
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i)\ gl aut atfhe avEaT

Arafedi 9 a.m. WA HIHe! fFaTmaT |
AT ufeat vh g2 # 3 e of 5 fime
AT BT S 2 | 39S veedt 9t < 3 e
T 2 T 3TM BT S 2 98 6 p.m. SSie
27 e ana T e, o 3t fem gmdt

o<t T a9y et ?
(A) 6:27p.m.  (B) 6:45p.m.
(C) 6:25p.m. (D) 6:50 p.m.

IEOTA HET, AR TS W AT Tid <
Teft 2 | 3T 3 S FHT FT AT ¢
(A) foan
(B) @&
(C) whd
(D) |

T T I & o fore Feferfiad g et
Y TleT |

i. MBI A B, C D EF G3MH
TH A g AMMHT FH AT |

i. D,B3MGH=LIMF, ARH
FAER |

iii. E, A% I @R

dl Feffaa d asR-mA T ™HR 7

(A) Fehamd

(B) F#am

(C) EMF& =

(D) Frertfea e o s o

24.

25.

26.

weA o) fears fafees 2 1 5.
faftreae sifima € |

frend : | Fo ol faad it € ok
SAfEar ot 2 |

I1. g+t srferan fafreas € |
(A) hae TIshY | TR0 &Ll @
(B) et Feh || STE AT 2
(C) | 3T Il STTETT LAl 2
(D) FANIAE I SO0 &
74 il 3R 7@ R BT 319 37 o 2
AN 10 IR TAG © | TR 3103 =Tl g
10 3T TeAd & T 376 3T TTT 45° TSHT

50 AT H8 TeTd & | 3T Y AR foig
4 form oA E 7

(A) IR-

(B) W

(©) e

(D) IW-Ufe=H

7fe 1 e WA ?, @1 1 T EFm
(A) HHAR

(B) TR

(C) guam

(D) T&EW
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27. Three persons A, B and C are

28.

29

standing in a queue. There are five
persons between A and B and eight
persons between B and C. If there
are three persons ahead of C and
21 behind A, then what could be the
minimum number of persons in the
queue ?
(A) 27
(C) 40

(B) 28

(D) 41

If a meaningful word beginning with B
can be formed from HACEB, then the
fourth letter of that word is

(A) A

(B) C

(C) E

(D) None of these

Mahu goes 40 km North, turns right and
goes 80 km, turns right again and goes
30 km. In the end, he turns right again
and goes 80 km. How far is he from his
starting point if he goes straight ahead
another 50 km and turns left to go his
last 10 km ?

(A) 30 km

(B) 35km

(C) 40 km

(D) 50 km

30.

31.

32.

33.

VY0 0 0 O 0 R

Vikas is more competent than Keshav,
Shiv is less competent than Ashu but
more competent than Keshav. Vikas is
less competent than Shiv. Who is the
most competent in the group ?

(A) Ashu

(B) Keshav

(C) Vikas

(D) Shiv

‘Pen’is related to ‘Pencil’ in the same way
as ‘Hockey’ is related to

(A) Football (B) Ground

(C) Team (D) Players

In afamily, there are six members A, B,
C, D, E and F. A and B are a married
couple, A being the male member. D is
the only son of C, who is the brother of A.

E is the sister of D. B is the daughter-
in-law of F, whose husband has died.

Then whoisCtoB ?
(A) Brother (B) Brother-in-law

(C) Nephew (D) Son-in-law

Five girls are sitting in a row. Kalpitha
is to the left of Mridula. Megha is to
the right of Arpana. Sangeetha is in
the middle of Megha and Kalpitha.
Who among the following is to the
extreme right of the row ?

(A) Mridula
(C) Kalpitha

(B) Arpana
(D) Sangeetha
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da=affa A B3 Ccuw i i@ § |
AR BF A da=afFa M B CH
o= sme =R | AR C 3 o d s
3R A% I 21 =afFa & @1 ofFa § =gaw
fF g aed & 7

(A) 27 (B) 28

(C) 40 (D) 41

Ife HACEB ¥, B ¥ 3IRY EHaTl U
el Yg ST ST HehaT B, A1 39 e
T =T & 2

(A) A

(B) C

) E

(D) ¥ 4 Tl

wTE 40 b . I ST e, R and g
80 T . sear? | R : e ear? ofk
30 f =t Ierar? | a5 R e geam
80 fob.Hi. It 2 | 9 370 IR foig
4 for1 ¢ @ I 5 e 50 6.t 3T
TIoaT @ IR Afew 10 fh .. amd g &
e FAAT R ¢
(A) 30 fF ..
(B) 35T
(C) 40 ..
(D) 50 f.Hi.

30.

31.

32.

33.
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o e @ i e 2, R ST

FH T 2 AR Hya § fers Aem R |

foerma e @ %9 wem 2| oE ¥ waivE

qEm HE R 7

(A) 3AR[

(B) FvE

(C) fa=m

(D) @

W, U’ @ gefta @ 3 R 5
T HafE 2

(A) FeoTE

(C) 2m

(B) oG |
(D) Taenfea

% IRER #, B: TE A, B, C, D, E 3R
F 21 A3l B & fatfed g1 2, A &
%9 §e 21 D,C &1 3FAral g 8, S A
FIAERNE, DFSARI B, FHIag 2
S afam e | C, BFHHLT ?
(A) ¥ (B) W

(C) WS (D) =™1E

Uig deiRat v ufeq 9 981 2 | wieuan
TEATH ATE R | HET 7O 0 2 | Tt
T 3R FHicyar & o= § 2| Fr=fofaa @

PN UfFaH ged Qi @ 7
(A) g (B) 3T
(C) =fcuan (D) Tfrar
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34.

35.

36.

37.

40"

In @ certain code language, ‘si po re'
means ‘book is thick’, ti na re’ means
‘bag is heavy’, 'ka si’ means ‘interesting
book’ and ‘de t’ means ‘that bag’. What
should stand for ‘that is interesting’ in
that code language ?

(A) kadere (B) tipoka

(C) karena (D) desire

In a certain code, BASIC is written as
DDULE. How is LEADER written in
that code ?

(A) NGCFGT
(B) NHCGGU
(C) OGDFHT
(D) OHDGHU

If Thursday was the day after the day
before yesterday five days ago, what
is the least number of days ago when
Sunday was three days before the day
after tomorrow ?
(A) Two

(C) Four

(B) Three
(D) Five

If in the word DISTURBANCE, the first
letter is interchanged with the last letter,
the second letter is interchanged with
the tenth letter and so on, which letter
would come after ‘T” in the newly formed
word ?
(A) |

€ S

(B) N
D) U

38.

39.

40.

Choose the correct alternative that will
continue the same pattern.

1,3,4,8, 15,27, ?
(A) 37
(C) 50

(B) 44
(D) 55

In a garden, there are 10 rows and
12 columns of mango trees. The
distance between the two trees is
2 meters and a distance of one meter is
left from all sides of the boundary of the
garden. The length of the garden is
(A) 20 m (B) 22m

(C) 24m (D) 26 m

i. FivefiendsP,Q, R, SandT travelledto
five diiierent cities of Chennai, Koikata,
Delhi, Bangalore and Hyderabad by
different modes of transport of Bus,
Train, Aeroplane, Car and Boat from
Mumbai.

ii. The person who travelled to Delhi did
not travel by boat.

iii. RwenttoBangalore bycarand Q went
to Kolkata by aeroplane.

iv. Stravelled by boat whereas T travelled
by train.

v. Mumbai is not connected by bus to
Delhi and Chennai.

Then, which of the following combinations
of person and mode is not correct ?
(A) P-Bus (B) Q-Aeroplane

(C) R-Car (D) T-Aeroplane
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34.

35.

36.

37.

1

T e |91 H, ‘si po re’ &1 374 ® ‘book
is thick’, ‘ti na re’ 31 319  ‘bag is heavy’
‘ka si' &1 3% 2 ‘interesting book’ 3T
‘de ti' %1 37 2 ‘that bag’| 38 He HTIT H

‘that is interesting’ & fora s grT =R ?
(A) kadere (B) tipoka
(C) karena (D) desire

U ¢ H, BASIC %1 DDULE foransimans |

36t 2 7 LEADER 1 &t forar s ?
(A) NGCFGT

(B) NHCGGU

(C) OGDFHT

(D) OHDGHU

i3 5 &7 1 Tl % ag & oA R o,
a1 fh fo @ e %a & 9= 9
T @ dim for o aam an ?

(A) & (B) @M

(C) =W (D) =

72 5% DISTURBANCE 7 7ee} 31art
3ffcH A& H e foTm ST 2, gt HHaw
1 5Ed 31 B T T e 2 o g
YR 317 +ft R SaT R, A vee § T
% TG HIH-HT A T ?

(A) | (B) N

) S (D) U -

38.

39.

40.
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8 Rrer AT S T e o e
FAT R
1,3, 4,8, 15,27,2
(A) 37
(C) 50

(B) 44
(D) 55

we i H, 10 Ufgaat 3TR 12 Ficw 3™
FIH3 | A F A= g 2 fex 2 3
i it et 37 ) HimTetl A v Wi
RUEISR S UE eI E

(A) 20 HiX (B) 22X -

(C) 24X (D) 26 HtX

i. AP, QR,SIMT I fow
TeR 37 REUETR ufEe & s
AT 54, RSl T SieN, R g
@ ¥ ges | 9 & |

i. Teoett ST e safea e @ 9= ST

iii. R T FRT ST T 3R Q TR SRS
EEaceacipie

iv. S @ R AT 6 T T 3 Wormel
TR AT |

v. HeI8, =8 g fooeht ofi <=s @ i e
2

a1 Fraferfaa safeaat otk omem & gae

Ty FET e TEi 2 7

(A) P-=® (B) Q-FdTE S&

(C) RN (D) TEIE SR
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41.

42.

43.

45.

=12-

{1 0RO OO 0

iii) Arithmetical and Numerical Ability

j xdx
o\}1+x2
W 21 g

(C) tan“2—% (D) none of these

Let A = {1, 2, 3} and R is a relation
defined on A as R = {(1, 1), (2, 2),
(3,3),(1,2),(2,3), (1, 3)}, then R is
(A) Reflexive but not symmetric

(B) Reflexive but not transitive

(C) Symmetric and transitive

(D) Neither symmetric nor transitive

If n(A) =m, n(B) = n, then the total number
of non-empty relations from set A to
setBis

(A) m" (B) n"—1
(C) mn-1 (D) 2™ -1

The identity element for the binary
operation ~ defined on Q - {0} as

a*b= Eggforalla,be Q-{0}is

(A) 1 (B 0
1
(€) 2 (D) 2

The domain of the function

(A) R-{3,2}  (B) R-{-3,2)
(C) R-{3,-2} (D) R-(3,-2)

46.

47.

48.

49.

it T

is the set of all triangles in the

Euclidean plane and let R be a relation
on T defined as

R ={(a, b)/a, b €T, ais congruent to b},
then R is

(A)
(B)
(©)
(D)

reflexive but not transitive
transitive but not symmetric
equivalence

none of these

0 0 3

If A=|0 3 O] then matrix A is

(A)
(B)
(C)
(D)

e {cosa sina

3 00
scalar matrix
diagonal matrix
unit matrix

square matrix

i } and A’ = A"
—Sina.  Cos o

then o =

(A)
(B)

(C)
(D)

1
0

%

any real number

Letf: R — R be a real function defined
by f(x) = x* + 5, then -1 (x) =

(A)
(©)

https://www.fresher .com/previous-year-q|

ion-papers/
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iii) STERTTIOTE UE HEaTeRS TRaaT
46. AR T IfFerm 7o & ot Py v age

O oy, =t

(B) v2-1
(C) tan-‘a %, (D) THARE T
HH SRTA = {1, 2, 3} 3R, AW T

IR ={(1,1),(2,2),(3,3),(1,2), (2, 3),
(1,3} F ®UH qfsrfa ?, & R2

(A) wfdfsmers wg wafia T2

(B) widferamera W vee i

(C) THMd 3R Tt

(D) = 1 Tufiq 3 g

IfE n(A) = m, n(B) = n, A AT

=4 B T - aa geu 1 et aea?

(A) mn (B) n"—1

(C) mn-1 (D) 2™ —1

ﬁaﬂﬂﬁqﬁﬁﬁmﬁﬁmmm
~-{0JWa+b= —_%mﬁmﬂ

a,beQ-{ﬁ}%%rq u&mﬁa% T|®?

A 1 B) 0
©) 2 (D) 1

X% +2% +1
x> -x-6

He f(x) = FT S 2

(A) R-{3,2}
(C) R-{3,-2}

(B) R-{-3,2}
(D) R-(3,-2)

https://www.freshersnow.com/previou:

47.

48.

49.

N RP TR AT RS
R={(a bya, b T, a, b % Tafmam 2}, 1
R%

(A) vfifrares wig gt T
(B) WeFHe: Ty wH A T

(C) §°gea

(D) 39 A &7 T

00 3
ﬂf‘E’A[O 30

3 00
(A) ImfesT 3Tege
(B) fashul e
(C) 3T g
(D) = =TIege

AR AR

coSa Sina
zrﬁ:’A:[ .

—-Sina.  cosa
WMo =

(A) 1
(B) 0

© %

(D) & ar<fas g&

THHAINT f : R > R U Jrafas oo @
S f(x) = x° + 5 ZRT IRATRE Brern 2, A

£-1(x) =
(A) (x+ 5)%

(C) (S—X)/V“

}ﬁ‘l{A’:A“%,

(B) (x—S)%'

(D) 5-x

s-year-question-papers/
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50.

51.

52.

53.

54.

55.

A bag contains 5 red and 3 blue balls.
If 3 balls are drawn at random without
replacement, the probability of getting
exactly one red ball is

45 135
@ 196 ®) 322
5
© = © =

The intercept made by the plane
2x — 3y + 5z + 4 = 0 on the x axis is

(A) -2 B %

©) % (D) 2

The general solution of w_x;_xc& =0is
(A) xy=c (B) x=cy?

(C) y=cx (D) y=cx

Value of tan™ (sin(—%)) =
A % ® %

© v © %

S — =2
If [axb| +\a.b\ - 144 and

|al=4, then|b |-
(A) 13 B) 9
(C) +3 (D) 3

The maximum value of the determinant
1 1 1

1 1+sin6 1 iy
1 1 1+ cos6
1
A) 1 (B) L
(A) 5
(C) 2 (D) None of these

56.

o7.

58.

59.

60.

If A, B are square matrices of same
order and B-is skew symmetric, then
A'BA is

(A)
(B)
(©)

Symmetric matrix -
Skew symmetric

Neither symmetric nor skew
symmetric

(D)

If x ﬁ:] +y E] 3 [:181] =0, then (x, y) =

(A) 2,1) (B) (1,2)

Null matrix

©) 1.2 (D) 2. -1)

h‘_a[l s =T h
01+4x2 S,tenaz

1
® -5

(A) 1 5

1

© 3 (D) 0

T

Ifsin”' x+sin'y= > then the value of

COS'X+cCos'y =
T

(A) >

(C) 0

If X°° = (x +y)°, then 3 =
dx

74 ® %

© Y @ %,

https://www.freshersnow.com/previous-year-question-papers/
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51.

52.

53.

o54.

55.
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TF Y 5 I 3 A R E | AR
37at 1 wicreumm % fom aefeses w0
e s 2, 91 3 Ut o g fiaen
AR ICE IR

45 135
(A) 19 (B) 392
15 15
(©) 5% (D) 29

X Y WHATA 2x -3y + 52 + 4 =09
o T ety 2
®) Y%

Ay, =2
©) % (D) 2
——ydx;"dyzowammaa%

(A) xy=c (B) x=cy?
(C) y=cx (D) y=0x

tan-! (sin(—%)) FHAR
A % ® %

© - ©) %

R jaxbf +[ab =144 30k |2 42,

Ib| =

(A) . 13 (B) 9

(C) +3 (D) 3
1 1 1

fufe 1 1+sine 1 EakIBE T
1 1 1+ cosh

qH?

(A) 1 (B) %

(C) 2 (D) 37 & g

56.

S7.

58.

59.

60.

https://www.freshersnow.com/previou:
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afe A, B 5AH 0 il o a1ege ¥ sk
B ot wmfia 2, A1 ABAR

(A) HHFT AR

(B) Tt wmfia

(C) A Tmiya = foh wufim

(D) 3[F T8

x| 2]y [ 5] -0t ey

(A 2, 1) (B) (1,2)
©€) 1.2 (D) 2.-1)

T dx =
uﬁ£1+4x2—§%,a‘ra=
| HEIPE
(A) 1 ®
© 3 ©) 0

i

I sin' x +siny = > g, q0
cos'x+cos'y=

A 3

(C) o

zI'ﬁ)(?'yﬁ:(x+y)*"%,€l‘r 9)1 -
dx

A Y ® %
© Y% © %
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61.

62.

63.

64.

65.

-16-

iv) Hindi Language and Comprehensmn

= wrw sir =y

‘gra’ yse &1 It ®U R 66. ‘SIE 98 WIATE! I I FA
(A) §Td (B) gff F2
(C) =it (D) @A (A) 44

‘ ‘ (B) IAHH
T ¥ AT AT Yee o T R 7 (C) wideg
(A) g (D) @ 3ir wfaeaq 2F1
(B) &g
©) 2 67. AT IABIA VTR 20 A
©) Fh EAR: G GRS

(A) ¥z et =T
faas s swewrEmeE (B) Ut I W S gl A S S o
21 (C) U W ¥ qr'em
(A) H9EH (D) e @ e =afFa = 7 v
(B) SfTEH 68. T+ Fd =
(C) Aferamto (A) TFa (B) g&a
(D) =T (C) T=hd (D) g&=pd
‘fafer’ == THHFTT/EWR | | 69. ‘Berm wes & T g3
(A) FeTdiyE (A) frem
(B) T i
©) fa (C) TreTRe
(D) aga‘l‘% (D) ToeT
WP T T A sRm e 7 [ 70 LS =R w W
IEE |

A) Tgda
- . (A) <
(B) TUFK ®) =
(C) AT ©) 3fg
(D) Tgafd (D) T

https://www.freshersnow.com/previous:

-year-question-papers/
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71.

Te.

73.

74.

75.

76.

47-

“wforgn  aAfhs I e & sm e §
oo 2

(A) HfergT

(B) WHfas®

(C) W

(D) &

T I8 T A &
(A) =T

(B) &

(C) wmag

(D) @

TW ot =R A% T U @ e §
™ 2
(A)
(C) =

(B) 3f&mm
(D) &

"3 T AT 39 qera i o @
(A) TE =FfFd

(B) =& i

(C) = 35a i@ femar =y

(D) @«

T A BT vee faEtafy # Ierm R ?
(A) Treg

(B) Hamw

(C) g&=s™n

(D) aTEHE

T F T Aoy ‘FHa’ e &7 o
=i ?

(A) o
(C) afem

(B) &
(D) s

https://www.freshersnow.com/previous-yea
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78.

79.

80.
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‘Il 39 wee § 3wt 2
S

B)

€ &
(D) 3

'E?F‘T:%;HE'R::TTHT:
(A) T
(B)
(C) T

(D) ¥ § o T

3 faetm wisei &1 wEw Sirea forfiau |
) @1 F) q&F
) wG Q) 7Y
3) Mo ) T
3 95 ) @
A a3 3
AE 9 =
BT @ %
C 9 W ®
)% ¥ @

STel st ofR fasryor 51 ITHT-39E v
YHSYEAIR, a8 G9EeEe |
(A) dcIE

(B) F=udivE

(C) HHuUTZ

(D) wEsiife

q4 4 g A
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v) English Language and Comprehensuon

ST e iR Ay

Choose the correct one word substitution for
the following :

81. “That which can't be defeated”.
(A) inexplicable

(B) invincible

(C) incomparable

(D) incredible

82. “One who knows everything”.
(A) ostracize ‘
(B) omniscient
(C) omnipotent

(D) omnipresent

Fill in the blanks with correct word from the
given options :

83. An
conceited person.
(A) egotist
(B) egoist
(C) ego
(D) none of the above

84. The State of Rajasthan has
in western region.

(A) dessert
(B) dessart
(C) desert
(D) desart

friend is always a

Complete the sentence with correct option :

85. Book early lest
(A) you miss this chance
(B) you don'’t miss this chance
(C) you shouldn’t miss the chance
(D) you won’t miss the chance

86. He enquired that
(A)
(B)
(C)
(D)

what is my name
what my name is
what was my name
what my name was

Fill in the blanks with suitable idiomatic phrase :

87. The High Court has
order passed by the Trial Court.
(A)
(B)
(©)
(D)

the

set aside
set up
"set down
set in

88. There can be no rule for
trust.

(A) null and void
(B) hard and fast
(C) by and large

(D) toandfro

Select the sentence which is grammatically
correct from the following :

89. (A)
(B)

(©)

He looks as if he was ill.

He was very kind if rather vain.
He won both a medal and a
scholarship.

(D) This boy has either stolen my purse

or that girl.

https://www.freshersnow.com/previous-year-question-papers/
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Complete the sentences using correct form of
the verb from the given options :

90.

.

92.

93.

The Chinese

(A) invented

(B) have invented
(C) had invented
(D) invent

printing.

Linda has lost her passport again, it's
the second time this to her.

(A) has happened

(B) happens

(C) happened

(D) none of the above

| asked the driver to slow down. She
too fast.

drives

was driving

used to drive

were driving

(A)
(B)
(C)
(D)

Ann didn’t see me wave to her. She
in the other direction.

(A) look

(B) looks

(C) was looking

(D) had looked

Select correct option for the underlined words
in the following sentences :

94.

95.

It looks as though it might rain.
(A) Noun

(B) Verb

(C) Conjunction

(D) Interjunction

Many were killed in the accident.
(A) Noun

(B) Adjective

(C) Indefinite pronoun

(D) Adverb

https://www.freshersn

96.
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Consequently he refused to go.
(A) Adverb

(B) Pronoun
(C) Noun

(D) Adjective

Select correct preposition to fill in the blanks :

97.

98.

99,

100.

We stayed
(A) in
(B) on
(C) at
(D)

Preetam Nagar.

through

a pencil she wants a

paper.
(A) Beside
(B) Besides
(C) For
(D) Of

She will arrive there
4 O’clock.

(A) by

(B) on

(C) still

(D) till

She lives
(A)
(B)
(©)
(D) at

the Circuit House.

ow.com/previous-year-question-papers/
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SECTION -B
Post Specific Subject — Related Questions

101. Which among the following is not a criteria
should be considered in formulating a
sampling plan ?

(A) Method of preparation of food
product

(B) The degree of hazard to human
health

(C) The potential for fraud

(D) Degree of confidence required so
that the test result is valid

102. Choose the correct statement from
below :

(A) Objective sampling should not be
done on a random basis.

In dealing with selective sampling,
random sampling is necessary.

Objective sampling is also known
as selective sampling.

When lots are contaminated,
adulterated, defective, the FSO or
Authorised Officer will proceed for
a biased sampling.

(B)
(©)

(D)

103. Unless otherwise specified, refrigerated

samples should not be analyzed more

than hours after collection.
(A) 24 (B) 36
(C) 48 (D) 72

104. In case of flour containing live insects,
the sampling method adapted is

(A) Objective sampling

(B) Biased sampling

(C) Sampling using random tables
(D) None of the above

105. What is the disinfectant recommended
for disinfecting sampling tools ?

(A) Isopropyl alcohol/ ethyl alcohol
(B) Dettol

(C) Lysol

(D) Chlorhexidine

106. Direct contact with rodent-urine
contaminated materials should be
avoided as much as possible. The
moist urine of chronically infected
rodents can contain
organisms that may be transmitted
to man, contact with bruised skin
or mucous membranes being the
suspected mode of transmission.

(A) Pasturella
(B) Leptospira
(C) Clostridium
(D) Coliforms

107. The category of analysis for foods should
be defined according to the requirement
for regulatory or monitoring purpose.
Which among the following category is
useful for the detection of extraneous
matter, damaged product in the samples ?
(A) Chemical analysis

(B) Microbial analysis

(C) Physical analysis

(D) Sensory analysis

https://www.freshersnow.com/previous-year-question-papers/
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I -
ez T e -geeft uwa

101. F=fafas 3 @ g a@s =t w aiaeem
AT S B T e TR st ?
(A) @Ta 3cag s i fafy
(B) uMa IR &l @R & Tt
(C) u@Emere <t G
(D) Tavamaiaifea ferft arfer wteror aftom
Ay g

102. Fi= feu e & @ vt em =t =4 |

(A) FEgS Uideae T Argfess SR ®
& foran s TR |

(B) e ufomrm =t Yot a0 Tgfoes
i T 2 |

(C) Twgiee Wit =t giar Tfceaa st
FEd R |

(D) 1= @Y Hgfvd, fremaeg, Ffega 2,

dt FSO a1 wrfergra 1Tt weh qeqardt
i FETR |

103. s e Ffdse 7=, wfafera i =it e =
o2 8 ST fovei i e o s
M |
(A) 24
(C) 48

(B) 36
D) 72

104. 9 32 | Sifaa £ 2, a1 Jurf =it
FIGECERCIEE
(A) FEgFes wftee
(B) et gicrram
(C) i AR & oI & Wicrrg
(D) 3Fa | & IS TE '

21-

105. Wide=aA IuoT i hieEnfad 6 & fore
G T hIRTOENER -6 2 ?
(A) ITEETHIRS IHcehiei/SUEA
IR
(B) =T
(C) v
(D) FoREHA

106. ekt oh T3 FT0 TG MNa Tarelt o Hie ok & S
T O9a B, TEFT TR ETE it © Tgh Hd haehl
FPR_ SHasrewdd, e wa
FA-H AT F T T AL T @
THAE |

(A) TrEgReT
(B) T=rEaRT
(C) Fifefeam
(D) Fefre

107. @ra v soft frames o et =9
Y STV o SR IRHTIN 1 ST =TT
frferia & @ - Soft Tt & srer amwh,
&I 3eUTE ST a0 & fore Swarnft @ ?

(A) TEES faveu
(B) gemstfas fawetam
(C) itferr fawetwor

(D) Gact favetsm

https://www.freshersnow.com/previous-year-question-papers/



MKG-XXII/TECHTA/1T/05

108.

109.

110.

111.

-29.

Choose the Micro-organisms with severe
hazard or with moderate direct health
hazard of potentially extensive spread
in food.

(A) Clostridium botulinum

(B) Aerobic micro-organisms

(C) Psychrotrophic micro-organisms
(D) Lactic acid bacteria

should not be used for

pesticides samples.

(A) Plastic bags or containers
(B) Stainless steel containers
(C) Glass containers

(D) Aluminium containers

Wide mouthed jars are used for the
sampling of

(A) Meat

(B) Butter

(C) Pesticides

(D) Qils

Which among the following is true for an
objective sampling ?
(A) Objective sampling must be conducted
on a random basis

(B) Eachunitshouldhavean equalchance
of being picked as a sample

(C) The best way to assure this is by
picking a sample according to
a predetermined time from a
production chain

(D) All of the above

112.

113.

114

115.

O O OO 0

Where no specific instructions are given,
the general rulé is to collect samples from
of the number of units

in the lot.

(A) The square root

(B) The square root, plus one
(C) The square root, minus one
(D) None of the above

is an example for products
manufactured under non-homogeneous
conditions.

(A) Chocolates

(B) Canned Fruits and vegetables
(C) Butter

(D) Ice creams

Aseptic techniques are used in the collection
of samples for

(A) Chemical examinations
(B) Physical examinations
(C) Microbiological examinations
(D) Sensory examinations

Regulatory bodies of Governments have
employed three methods to control
microbiological hazards. Which among
the following methods is not included in
the same ?

(A) Creating awareness by education
and training

(B) Inspection of facilities and food
processing units

(C) Microbiological testing
(D) Documentation of incidence

https://www.freshersnow.com/previous-year-question-papers/
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108. v T Tet e WA AT A T WA
TR g1t geusidt F gl

(A) e segfemm

(B) amrefta gewsfa

(C) WTEhIZI ek Garsiia

(D) Sfee 3t Sframy

- EqaTATh T e fore s
e} T s =Ry

(A) =nfees & 9 a1 s

(B) Reid Wil & &

(C) +ia & T

(D) T % A

110. IR EF I __ & Wieaq & forg
A TS E |

(A) @l|

109.

(B) WG
(C) EXUaawATIit
(D) 3
111, Frafoafaa # @ FF-1 v aegis gfdemm
Flmead?

(A) TEGS Tieam U ATgfEE IR W
o ST =few

(B) T TR % T H A TH FT TeAF THE
T U GHH IEE e =i

(C) 38 ghiftaa =@ =1 gam a1 0&F

IeATEA a1 A J& FHUTiE 99 & 3TN
T AT 331 F g2

(D) 3a g+t

-23-
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112. st faftwe fdw 7 feume e, @ud sweai
TEH AT uEHd A A
g R |
(A) = 7t
(B) =i T, S O
(C) =i 7g, W TH
(D) ¥ | IS
o oo Toufot | s e Iedat
%1 U QR R |
(A) TR
(B) fesee wet 3ii wfesrai
(C) waeH
(D) IEEhim
114. ¥ UFA Teft a1 EAGLELT
A FA A TEF A E |
(A) TEEfE Tego
(B) sitfaes wlierm
(C) gestfares wlieron
(D) Tadt wiemo

113.

115. TR i Frams fwmt 3 gerstfas @@
= Fafa +0 & 9= s o ) e
Fraferfiaa & @ - wlew miva T 2 ?

(A) Tre 3R wfSteror g Srreshal a

(B) Giaenatt 3 @Te TR SHEdl
Eritu|

(C) gewtfamr udierm
(D) TR T GEATAS 0T
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116.

117.

118.

ICMSF stands for

(A) International Commission
on Microbiological Specifications for
Foods

(B) Indian Commission on Microbiological
Specifications for Foods

(C) International Council for
Microbiological Standards for Foods

(D) Indian Council for Microbiological
Standards for Foods

Every sampling plan has a certain amount
of risk by which a good lot is rejected or
a bad lot is accepted. In other words,
this can be classed as a Consumers’
or Producers’ risk. The producers’ risk
describes

(A) The probability that an acceptable
lot if offered will be falsely rejected

(B) The probability that a bad lot when
offered will be falsely accepted

(C) Both (A) and (B)

(D) None of the above

According to ICMSF, is
the sampling frequently used to examine
for hygiene indicators where enumeration
of microbes in a unit-volume or mass is
possible.

(A) Two class plan
(B) Three class plan
(C) Four class plan
(D) None of the above

11e

120.

121.

122.

The optimum temperature for growth of ~
mesophilic organism is

(A) 40-45°C
(B) 30-40°C
(C) 10-15°C
(D) 25-30°C

Inindustry, microbes are usedto synthesise
a number of products valuable to human
beings. Beverages and antibiotics
are some examples. Production on
an industrial scale, requires growing
microbes in very large vessels called

(A) Fermentors
(B) Autoclaves
(C) Ovens

(D) Incubators

Which among the following is not the |
three basic activities involved in analysis
of food products ?

(A) Collection of representative sample
(B) Sample preparation

(C) Analysis using appropriate methods
and instruments

(D) Microbiological testing

Which among the following is a problem
in bulk sampling ?

(A) Thenumberof increments to be taken
and the size of the increments

(B) Selection bias
(C) Recall bias

(D) The risks of accepting bad or rejecting
good lots
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116. ICMSF F o a2 |
(A) TTATF FHTH 1T HEFH AT
TRy B B2d
(B) fema wHiym 117 UEHEHIATea
TfGhHTg B Fed
(C) TTATES F13UeA B UTGsh STa A ToThel
TEH W RS
(D) 3feT FE3T BR ABFH AT
Hedd H FgH
117. 9% Yfaaa= I 3 v ffea merd
Shifam gt 8, Torash 30 v wvw wv wiga
1 3r=St @Y iRd Bidl 2 | 31 YIeal H,

T8 UTEH! AT IeaTeh! o S o arfihd
TFA 2 | IeUTeH! 1 SRan St Far 2

(A) e e 6 o el Qu AR A
STl 2, A ST ¥ B g A
Bl

(B) ekt e o vk @t @ A e Zr st
7, 1 30 ¥ ¥ Sigha L 4t St

(C) (A) =i (B) ZH
(D) 3=a A F1E =l

118. ICMSF & 18R, I8 wicea
2, St eI Ghad! & TG 3G TR-IR

T Bl 3, ST U 15— 3T A1 3 H
# gewsiiat Y o HvE R |

(A) 3= s
(B) = a7t e
(C) =& AT
(D) ¥ H 8 HE
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119. WSIftHlee sfta &1 9fa 2g ST aTomm 2
(A) 40-45°C
(B) 30-40°C
(C) 10-15°C
(D) 25-30°C

120. 3o #, AFal &+ fore 3wt &2 3curEt i
A & T gewwshat &1y o s @ |
7 3wt faes sush Serrd | sienfie @
T I | 98-98 THI | GEwSial 1 qe
T ISR, S FEATAE |
(A) froas
(B) 3t
(C) 7=
(D) T

121. Frafefiaa 4 & s 9-d @@ 3R & e
% o s ot | i T 7
(A) wfaffer et =1 e
(B) Tt s
(C) 3w faferrt it Suertor warm &tk

e

(D) gewtfas wdiem

122. gea vfemg # f=fafaa & @ ¥9-d@ w
qaEne ?

(A) =i E it it gen i gfeat
HTRTT

(B) T e

(C) T HiTe

(D) & WY il EhrA 3R 3=t @9 Fi
st 70 w1 S
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123. A representative sample is essential
(A) During bulk sampling
(B) During acceptance sampling

(C) When pathogens or toxins are
sparsely distributed within the food

(D) All of the above

124. The factor which affects the composition
and nature of each lot is

(A) The homogeneity of the total sample
mass

(B) Uniformity of the total sample
mass

(C) Both (A) and (B)
(D) None of these

125. The useful containers for line samples are
(A) Steel containers
(B) Any metal cans
(C) Plastic bottles only
(D) Sterile plastic bags or plastic bottles

126. The organism that produce acids that
coagulate and partially digest the milk
proteins is

(A) Bacillus cerus
(B) Lactobacillus
(C) Bacillus subtilis

(D) Escherichia coli

127. Sugars in bread dough are fermented by
yeast to

(A) Ethanol and CO,
(B) Methanol and CO,
(C) Ethanol and O,
(D) Glucose and O,

128. The probability that a lot of food of defined

microbial quality will be rejected by a
prescribed sampling plan compared to
other sampling plans is known as

(A) Variable plan
(B) Stringency
(C) Precision
(D) Accuracy

129. The sampling equipments used for

sampling of oils and fats are made of
(A) Glass

(B) Tin-plate

(C) Aluminium

(D) Both (A) and (B)

130. Liquid or semisolid oils in barrels and

drums are rolled before sampling for
(A) Bringing to room temperature
(B) Mixing

(C) Avoiding clumping

(D) Avoiding air
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131.

132.

133.

134.

While sampling oils and fats, the minimum
size of each test sample shall be

(A) 1Kg
(B) 0.5 Kg
C) 1L
(D) 200 ml

The glass sampling bottles for sampling
of oils and fats should be closed with

(A) Glass stopper
(B) Rubber stopper
(C) Velvet corks
(D) Both (A) and (C)

Which among the following is a system,
whose implementation in the production

and processing of food ensures the
safety of the food ?

(A) Critical control point
(B) ISO

(C) Hazard analysis
(D) HACCP

Growth of micro-organisms and their
ability to generate energy by the specific
metabolic reactions depend on the
redox potential (Eh) of foods. What is
the suitable Eh range for the growth of
anaerobes ?

(A) +500 to +300 mV
(B) +100 to —250mV
(C) +300to +100 mV
(D) None of the above

135.

136.

137.

138.

O 0 0 A

In sampling, the sample size (n) to be -

tested and the defective units (C) of n

are dependent on the and
respectively.

(A) Batch number and Microbial type
(B) Microbial level and Microbial type
(C) Lot size and Microbial level
(D) Lot size and Microbial type

Which among the following containers
cannot be used for liquids by the
FSO/ Authorized Officer ?

(A) Glass
(B) Stainless metals

(C) Plastic material which can be sterilized
by heat

(D) None of the above

Which among the following should be
considered before collecting any sample
from the lot by the FSO/Authorized
Officer ?

(A) Name of the food and lot size
(B) Container size or sizes

(C) Number of consignments

(D) All of the above

The most frequently encountered condition
in field examination is

(A) Rodent and insect-contaminated
foods

(B) Pesticide contaminated food
(C) Microbial contamination
(D) None of these
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131. dt 3K gt =1 gfdaas wid o9d, T
THIEUT T T F[AAH SR B
<R |
(A) 1Kg
(B) 0.5Kg
C) 1L
(D) 200 ml

132. it ol et & w2 i
ferer siact B 9z g =iy |

(A) e H W
(B) T 1 TN
(C) I Hish

(D) (A) iR (C) @t

133. Fmfafad § @ #F-H o wone 2, e
TS =5 IS R THEH o FE =51 SisH

& geen ghiEa s e ?
(A) ot Frror ferg

(B) 1SO

(C) wiftam faverwor

(D) HACCP

134. gewshiarrgle ot e smmrer: st
B 1 3c0 FA A S Arar e F
T &l (Eh) it ? | samgsifaat
#$1gfg ¥ I Eh dimrane ?

(A) +500 to +300 mV
(B) +100 to —250mV
(C) +300 to +100 mV

(D) 3Fa # A HE T
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135. afderm H, T 1w (n) foree wheor e
ST 9T g @ 3 n & St sEAt (C)
3t T HA: FRER R |

(A) = TE 3R sl TR

(B) gewsia wr i gewsia Tan

(C) |9 TR 3TN ersia &1

(D) @ ATHR 3TN GEwS{a THR |
136. Fr=frfea 8 @ #19-3 T3 FSO/ Wi«

AT ST 7 2 T e e S R ?

(A) ==

(B) R gy

(C) verfEee vered St Feur grr AR By
AEFAE

(D) IFH AFE T |
137. H¥ 11 WA w0 @ @ FSO/ witga

st g e d @ e w Rem e
TR ?

(A) SIS 1 T 3R QY T SR
(B) U I HAHR

(C) uft <t v

(D) SFad A ash

138. &3 Tiieror 4 Haifees an g il I3 Jrelt
feufa 2

(A) Fa 3 Fre-wgfia s
(B) GIGETEATE Hafd WISk
(C) gewSiralt Tgwor

(D) T A FE T
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139. Choose the wrong criteria regarding the
sampling plan.

(A) The required stringency of plan
should not be considered

(B) This should be based on the degree
of hazard to the consumer from
pathogenic or spoilage microbes

(C) The degree of hazard due to storage
conditions must be considered

(D) Food-borne disease record of this
particular food type

140. The condition of the sample received for
examination are of primary importance.
Select the situation in which the laboratory
results will become meaningless.

(A) If samples are improperly collected
(B) Mishandled

(C) Not representative of the sampled
lot

(D) All of the above

141. Quantity of milk samples to be collected

for analysis
(A) 200 mi
(B) 500 ml
(C) 250 mi
(D) 750 mi

142. The label on any sample of food sent for

analysis should not bear
(A) Code number of the sample

(B) Name of the sender with his official
designation

(C) Date and place of collection
(D) Type of contamination

143. A sample which has been taken from -
Agmark sealed container, the label shall
bear the following information

(A) Grade

(B) Agmark label no. /Batch No.
(C) Name of packing station

(D) All the above

144. Major food items prepared and sold at the
street level and in open markets which
does not concemn from the microbiological

safety point of view is

(A) Meat

(B) Poultry

(C) Ground nut

(D) Milk and dairy products

145. Sampling equipments of milk and milk
products for microbiological examination

should be autoclaved for

(A) Exposure to steamat 121°C + 1°C
for not less than 20 minutes in an
autoclave.

(B) Exposure to hot air at 170°C to
175°C for not less than two hours

(C) Exposure to hot air at 170°C to
200°C for not less than two hours

(D) Both (A) and (B)

146. Preservatives can be added to milk
when

(A) An instruction to do so is issued by
the testing laboratory

(B) The preservative is of a nature that
does not interfere with subsequent
analysis

(C) The nature and quantity of
preservative are stated in the
sampling report

(D) All the above
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(D) 3 H & wft
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(D) 750 ml
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(A) T <t e e
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(A) e’
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(D) JFa ot
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(A) wiE
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(C) et
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145. 39 3R T Ie91G1 o o ST 1

?Laﬂéﬁawﬂam%g EICIE Sl
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147.

148.

149.

150.
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is the portion of milk which
is rich in milk fat and which rise to the
surface of the heated milk on standing.

(A) Cheese
(B) Whey
(C) Malai
(D) Curd

What would be the number of units to
be selected, when 101-1000 number of
units in the lot are present in sampling of
cream ?

(A) 5
(B) 4
(C) 2
(D) 1

Which of the following is not a Sampling
Appliances used for sampling cream ?

(A) Plungers
(B) Tubes

(C) Spatula
(D) Dippers

What would be the number of containers
to be selected when the number of
containers in the lot is 2 to 40 while sampling
ghee ?

(A) 2
(B) 5
) 3
(D) 6

151.

152.

153.

154.

Detection of one among the following °
toxins requires extraction of the toxin
from food and assay against specific
antibody by microslide precipitation test
using the concentrated test. Identify the
toxin.

(A) Staphylococcus aureus
enterotoxin

(B) Clostridium botulinum toxin
(C) Cholera toxin
(D) All of the above

For toxin detection, to activate the
Clostridium botulinum toxins of non
proteolytic types (B&E), a portion of the
extract is treated with

(A) lodine
(B) Specific antibody
(C) Trypsin
(D) Lipase

Magnetic immunobeads method is used
for the detection of which pathogen ?

(A) Clostridium botulinum
(B) Listeria monocytogenes
(C) Staphylococcus aureus
(D) Salmonella spp.

Ingesting a food containing a preformed
toxin causes

(A) Food borne intoxication
(B) Food poisoning
(C) Both (A) and (B)
(D) Toxicoinfection
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F91 T | R, S 39 @ W@ W
AR T AR 2 |

(A) TR
(B) =@
(C) weT®
(D) =&

148. v i % feedd # 101-1000 el i
TE 38 Bl 2, 1 I T Frelt JHRal
%1 gen gt
(A) 5
(B) 4
C) 2
(D) 1
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TR U e 3R e @ 7
(A) wisd

(B) =19

(C) gen
(D) S

150. it & Ufe=H & 99a & @9 | 9E i @
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(A) 2
(B) 5
(C) 3
(D) 6
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155.

156.

157.

158.

The microbial food borne diseases
Salmonellosis and hepatitis A are
examples of

(A) Intoxication
(B) Infection
(C) Toxicoinfection

(D) Bacterial diseases

The places during processing of a food
where proper control measures need to
be implemented in order to prevent any
risk to consumers are called

(A) Sterile areas
(B) Critical control points
(C) Hazard points
(D) Safety points

CIPis

(A) Control-in-place
(B) Clean-in-place
(C) Clean-in-process

(D) Critical control-in-process

In 1810, devised a canning
process that involved keeping air out of
cans and heating food in cans.

(A) Louis Pasteur
(B) Nicholas Appert
(C) Joseph Lister
(D) Robert Hook

159.

160.

is the application of heat that
selectively kills micro-organisms without
greatly affect the quality of food.

(A) Tyndallization
(B) Sterilisation
(C) Pasteurization

(D) All of the above

Identify the sampling device given
below. '

P

—rt

300 1o 1000

|
.

161.

162.

2100

(A) Plunger
(B) Dipper
(C) Stirrer

(D) None of the above

What is the enzyme used in the production
of syrups from com starch ?

(A) Lipase (B) Amylase

(C) Protease (D) Lactase

Bacteriological examination shall be

undertaken within of the time
of sampling.

(A) 36 hours (B) 24 hours

(C) 12 hours (D) 18 hours
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(A) ==
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(A) &8 TR

(B) Trrew wé
(C) % ot
(D) T g
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159. FEHT T TN 2, S A

Gersiial AR 2 |
(A) fesemsvm
(B) e
(C) urw=rlisu
(D) 3Fa & 4 woft

160. = fow T gfeemm susrtol 1 ey |

(A) =i
(B) fem
(C) few
(D) 3% ® @ I8 T
161. T4 e ¥ Rra =M & wga usEd
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(A) T (HRGESES
(C) wifews (D) St
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163. Which among the following preservatives
shall be added to milk sample required
for bacteriological or organoleptic
examination ?

(A) Sorbic acid
(B) Sodium sorbate
(C) Potassium sorbate

(D) No preservative shall be added

164. Which among the following Instruments
is not recommended for sampling milled
products, excluding pelleted materials ?

(A) Electric mechanical screw auger
(B) Gravity mechanical sampler

(C) Air - assisted samplers

(D) All of the above

165. Samples of liquids such as milk is

collected with
(A) Stainless steel dippers
(B) Stainless steel borers
(C) Special probe
(D) Aluminium spoons
166. Samples of dried milk and milk samples

are collected with

(A) Stainless steel dippers
(B) Flour trier

(C) Dry borer tube

(D) Both (A) and (B)

167. A conical shaped metal probe often -
referred to as “bag thief” is used to collect
samples from

(A) Bags of grain

(B) Bags of coffee beans
(C) Bags of spices

(D) All of the above

168. Sampling of elevator boots of large flour

mill or bakery is done with
(A) Steel dipper

(B) Borer tubes

(C) Flour trier

(D) None of the above

169. Ametal screen and collecting pan is used
for checking bulk grains for

(A) Insects
(B) Rodent faeces
(C) Foreign materials

(D) All of the above

170. are the building blocks of

proteins.

(A) Carbohydrates
(B) Minerals

(C) Amino acids
(D) Fatty acids
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171. What has to be done for samples
collected for analysis of pesticide
residue in order to retard degradation
of the pesticide residue ?

(A) Preserve with appropriate chemicals
until delivered to the laboratory

(B) Keep the sample in cold storage

for minimum time, if it is stored
and transported in refrigeration in
commercial practice

(C) Analysis at the earliest time
(D) All of the above

172,

Spoilage by is usually from
improper heating procedures or
leakage.

(A) Mesophilic bacteria

(B) Thermophilic bacteria
(C) Psychrotropic bacteria
(D) Psychrophilic bacteria

173. Which one is having increased chance
of detecting contamination, when total
weight of sample collected is same in all

the cases ?

(A) Drawing greater number of smaller
samples

(B) Drawing less number of larger
samples

(C) Drawing single sample
(D) Both (A) and (B)

174. Sampling plans should include

(A) Microbe 6r group of microbes of
interest

(B) Number of samples to be tested
(C) Test method
(D) All the above

175. Where presence/ absence of a pathogen
is to be detected, the most suitable
sampling plan is

(A) Three class sampling plan
(B) Two class sampling plan
(C) Both (A) and (B)

(D) None of the above

176. Acidic foods can be preserved by heat
of 100°C because

(A) Micro-organisms that survive are
not capable of growth in a low pH

(B) High heat will make it more fatty

(C) Micro-organisms that survive are
not capable of growth in a high pH

(D) None of the above

177. Choose the correct statement.

(A) Three class plans are more effective
in reducing producer’s risk.

(B) Two class plans are more effective
in reducing consumer's risk.

(C) Three class plans are not effective
in reducing consumer’s risk.

(D) Two class plans are more effective
in reducing producer’s risk.
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178. the most common microscope

used in microbiology laboratories.
(A) Simple microscope

(B) Compound light microscope
(C) Confocal microscope

(D) Phase contrast microscope

179. According to ICMSF Microbiological
criteria is defined as

(A) a statement of the criterion of
acceptance to be applied to a lot,
based on examination of a required
number of sample units by defined
analytical methods

(B) a statement of the criterion of

rejection to be applied to a lot,

based on examination of a required
number of sample units by defined
analytical methods

(C) a statement of the approved
analytical methods for the
examination and acceptance
of a lot

(D) none of the above

180. While analysing the samples for
microbiological quality, level of
contamination considered to be
acceptable, if cfu/g <m where,

m = threshold below which all results
are considered satisfactory and cfu is
(A) Countable functional units

(B) Colony forming units

(C) Coccus forming unit

(D) None of the above

-40-

181. Which among the following is true fora
Sampling Personnel ?

(A) Authorized person

(B) Properly trained in the appropriate
technique

(C) Free from infectious disease

(D) All of the above

182. The jar and bottle for sampling cream
shall be closed by means of a screw cap
lined with

(A) Butter paper
(B) Glass stopper
(C) Both (A) and (B)
(D) None of these

183. Which is not true about the storage of
canned food products ?

(A) Should not be frozen
(B) Do not expose to high humidity
(C) Do not expose to excessive heat

(D) Should be frozen

184. Which among the following is the
characteristic. of a air tight container ?

(A) opaque
(B) inert
(C) translucent

(D) all the above
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185. Which sampling technique is used when
each item of the lot is easily identifiable
and no other information about the
composition of the lot is available ?

(A) quota sampling

(B) systematic sampling

(C) simple random sampling
(D) snowball sampling

186. The type of sampling in which a lot
consists of items which can be divided into
a certain number of more homogenous
groups is
(A) cluster
(B) stratified
(C) systematic random
(D) quota
187. This method consists of first selecting a
single sample item from the population of
N items and thereafter selecting items at
regular predetermined intervals to make
up the desired sample of size n
(A) random
(B) stratified
(C) snowball
(D) systematic
188. Which among the following is not a

Nutrients ?

(A) Proteins

(B) Antibiotic

(C) Trans fats and lipid profile
(D) Dietary fiber

-42-

189. Which is not a physical toxin ?
(A) Residual 'pesticides
(B) Glass
(C) Wood

(D) Insect matter

190. Thelotis rejected, if , Where

§ is the sample mean, s is the standard
deviation, k is the plan stringency value
and C is the limit value.

(A) E+ks>C
(B) £ +ks < C
(C) E+ks =C
(D) E+ks=C

191. According to FAO/WHO standards for

Ice cream, what are the values of n,
¢ and m, for Salmonella, where n is
number of units making up the sample,
m is threshold below which all results
are considered satisfactory, M is the
acceptability threshold and ¢ is number of
units in the sample that can fall between
mand M ?

(A) n=10,c=0,m=0
B) n=13,c=0m=0
(C) n=20,c=0,m=0
(D) n=10,c=2,m=0

192. Quantity of Oilseeds/Nuts/Dry Fruits to

be collected for Analysis
(A) 300 gms
(B) 250 gms
(C) 500 gms
(D) 150 gms
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193.

194.

195.

196.

In an autoclave, sterilising agent is
(A) Saturated steam

(B) Hot air

(C) Boiling water

(D) Hot oil

The ionising radiation that can be used
for sterilisation is

(A) o-rays
(B) B-rays
(C) yrays
(D) Infrared rays

According to which clause of Food Safety
And Standards Act — 2006, a sample of
Non-sterilized milk and liquid milk should
be preserved and transported ?

(A) Clause 8
(B) Clause 9
(C) Clause 10
(D) Clause 11

In case of sterilized milk, UHT milk
and sterilized liquid, milk products in
unopened containers what should be the
minimum sample size required ?

(A) 10 ml
(B) 100 ml
(C) 1000 m
(D) 500 ml

197. While taking samples of tea powder from -
a bag of moré than 20 kg, what is the
minimum quantity of sample to be taken

is

(A) 109
(B) 25¢
(C) 50¢g
(D) 100 g

198. Botulism is associated with
(A) Canned food
(B) Milk
(C) Vegetables
(D) Pulses

199. Milk protein is
(A) Globulin
(B) Albumin
(C) Casein
(D) Trypsin

200. Citric acid, used in foods, is produced
by
(A) Candida albicans
(B) Candida lambica
(C) Aspergillus niger

(D) Rhizopus stolonifer
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T, T Y = T
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This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O8O0

Wrong Method

0800

Correct Method

Ce00

The Candidate must mark his/her response
after careful consideration.

Wrong Method

O@O0O0

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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